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Number Search Y2 10x table

Find the sums in the wordsearch. Circle each one.
Complete the sums below when you have found them in the number search.
All the sums are either across or down.

2123/ 0|=14|x|7|=|1]|8]|x
1/ x|=17|x|1]0|=|7|0|x]|1
X119/ x11|]0(=]9/0|x|1]0
11021 |=11|2|=|%x|2]|]0]|x
O/=/3|x|1/0|={3/0|=]=]1
=12|0/5|7/3|=/0(3/1/8/|0
110/0(x|1|x|0O0|1|=]|7|0]-=
Ol=11]|1|x 6/ 0|5/ 7]1|1
114, 3/0/6|x/1/0|=/6/0]0
=10|x|=/4,0|=/4/0/1]0/0
1 x/6[/5/5|0/5/0|=14|=]1
Xx/0/6/0/0(4/ x|1,0|=]4|0

1x10= 10 2x10=

3x10 = 4 x10 =

5x10-= 6 x10 =

7 x10 = 8x10 =

9x10= 10 x 10 =
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Number Search Y2 10x table
Solution
21213/ 0/=|4|x|7|=]1118|XxX
1 I x|=]7|x]1|10]=]710|x1!1
X1119(x/1/0|=19|0|x|1]0
1101211 =112 =|x]12|0]|x
ol=|3|x|1]/0]=|3]|0|=|=]1
-l2/o0|5|/7/3|=/0|3/1/8|0
1100 x|1|x/01|=]7]0]=
O|l=1111|x 60|57 /1|1
1(4|/3|0|6|x|1|0|=]|6|0]|0
-l0o|x|=/4/0|=]4|l0/1]0]|0
1/x|6|/5/5|0/5/0|=4|=]1
x|0/6/0l0|4|x/1]/0l=]|4]0
1x10= 10 2 x 10 = 20
3x10= 30 4x10=40
5x10=50 6 x10=60
7x10=70 8x10=80

9x10=90 10 x 10 =100




	a: 


